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CBT Practice test model answers

Business Tax (BTX)

Practice assessment 1 FA 2009

Section 1
Task 1.1
[image: image2.png]Indicate whether the following are revenue or capital based.

Capital Revenue
arer
o
e





Task 1.2
[image: image3.png]Complete the computation. Use a minus sign to indicate any negative figures. Do not use commas or
brackets when entering figures.

[Netioss (378)
dded back

[Depreciation E 28019
[zhang's saiary B 30000
[Costof bottes orwine B 2250)
[Subscrition o galt iub E 220
[Wotor expenses for Zhang's car E 5700)
[Totat aaded back 66189

[Capital allowances ] o878|

|Adiusted trading profits 52526





Task 1.3
[image: image4.png]Select the correct option from the lists below or enter the correct figure in the box provided.

(a) The tax year in which he started trading was:

ﬁ

(b) His taxable profits in his first tax year of trading were:

EX v

E

(c) His taxable profits in his second tax year of trading were:
[£38.375 v

(d) His taxable profits in his third tax year of trading were:

500 v




[image: image5.png](€) His overtap profits were: £ 0375]

{9 His overlap profits are deducted:

[From the profits in the final year of rading [g





Task 1.4
[image: image6.png](a) True or false: a trading loss made by a company can only be offset against trading profits from the
‘same trade when carrying the loss forward.

True

False

(b) True or false: a capital loss made by a company can be offset against trading profits in the year the
loss is made, but only against capital gains in future years.

True

False





Task 1.4, continued
[image: image7.png](c) Which one of the following statements is correct?

Aloss made by a sole trader can only be relieved against irading profits made in the same tax year.

Foraloss made by a sole trader to be relieved in the preceding tax year, it must first have been elieved in the
current tax year

Aloss made by a sole trader must be relieved against he profits arising from the same trade in future years.

Aloss made by a sole trader can be relieved against total income arising in future years

() True or faise: a sole trader can restrict the amount of loss carried back so the personal allowances
are notlost.

Tue

False





Task 1.5
[image: image8.png]Adam and Barrie have been in partnership for many years, making up their accounts to 31 December each
year. Their profit sharing ratio was 2:1 respectively

On 1 May 2009, Charlie joined the parinership and the profit sharing ratio was changed to 321 for Adam,
Barie and Charlie.

Forthe year ended 31 December 2009, the trading profit was £90,000.

‘The division of profit would be calculated as:

Perioato: | 30 / 04 1 09 | |[30.000 20,000 10,000

Penoots: [ 31/ 12 1 09 | |[poooo [l oo [l [zoooo el |[foe





Task 1.6
[image: image9.png]When a company has a period of account that exceeds 12 months, how are the following apportioned?

[Trading income

|Capital allowances

|Rental income

Inerestincome

|changeable gains





Task 1.7
[image: image10.png]General Pool[ — MD's Car[  FD's Car| Total|
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Section 2

Task 2.1
[image: image11.png]Tick the appropriate box for each of the following items:

Vintage car

[antique vase

IRacehorse





Task 2.2
[image: image12.png]Complete the following computation:

e
Procesds 12000
Cost 4000
Indexation allowance [ 1715
Gain Geed
Chattel exemption 10000





Task 2.3

[image: image13.png]No of shares £ £

[October 2001 5,000 15,500 15,500

la-0114 1,767

17,267

RI 100 200 200

5,100] 15,700 17,467

w-0.207 3516

21,083

[Disposal 5,100 15,700 21,083
[Proceeds 45,900
[Cost 21,083
[Gain 24817






Task 2.4

[image: image14.png](a) Which one of the following statements is correct?

Acapital loss made by an individual can be carried back against capital gains made in the preceding tax year.

Acapital loss made by an individual can be carried forwardo the following tax year without offsetting it
against the current year gains.

Acapital loss made by an indvidual is offset against gains in the following tax year but only fo the extent that it
reduces those gains to the amount of the annual exemption.

A capital loss made by an individual can only be carried forward for one tax year

(b) Anindividual made a capital gain on the sale of his business of £400,000. The amount of
entrepreneurial relief is:

£17351

s177.077

£216,889

£222222





Task 2.4, continued
[image: image15.png]{c) Which of the following statements is correct?

Enireprensurial relisf s restricted to £1,000,000 for he lifetime of the taxpayer.

Enireprensurial relie is restricted to £1,000,000 for each capital disposal

Enireprensurial relisf has no restrictions

Enirepreneurial relisf s restricted to £400,000 for the lfetime of the taxpayer

(d) Anna gifts an asset to George. The asset originally cost Anna £7,000. On the date of the gift, the asset
'had a market value of £20,000. Which of the following statements is correct?

George's deemed costis £20,000.

‘George's deemed costis £7.000.

George's deemed costis £13,000.

Anna will pay capital gains tax on the gain of £13,000.






Task 2.5

[image: image16.png](a) Afactory was bought for £400,000 in January 2000. In October 2009, it was sold for £600,000. In the
‘same month another factory was bought for £550,000. The amount of the gain that can be rolled over is:

H Er—

(b) An asset was sold on 1 November 2007. The dates during which the proceeds must be reinvested are
between:

ovember 2008 Bl [oemerzin a





Task 2.6

[image: image17.png]True or false: indexation allowance is applied to both bonus issues and rights issues of shares.

Tue

False





Task 2.7

[image: image18.png](a) A taxpayer has seif-employed income of £70,000 for 2009/10. The amount chargeable at the National
Insurance higher rate of 1% is:

£ [26125

(b) Ataxpayer has self.employed income of £25,000 for 2009/10. The amount of total Class 4 NIC payable would be:

& [15a2

(€) Which of the following statements is correct?

Every self-employed taxpayer must pay Class 2 NIC, iespective of the level of profis.

‘Self-employed taxpayers pay sither Class 2 or Class 4, butnot both

Class 4 NIC is based on the amount of money taken out of the business by the taxpayer

In a parinership, each partner is responsible for their own NIC.





Task 2.8

[image: image19.png]For the following, enter the appropriate date to show when tax is due to be paid:

Firstinstallmentfor tax year 2009/10 31701/ 10
‘Second instaliment for tax year 2009/10 31007 1 10
Final installmentfor tax year 2009110 31001 1 1

Payment date for capital gains for 200910 B





Task 2.9

[image: image20.png]A company has the following information for the year ended 31 March 2010:
(a) PCTCT is £625,000

(6) Dividends received, net, are £49,500.

() The company has one associated company.

‘The computation for corporation tax payable is:

625000| @ 28%) 175000

lscuR

lcoporaton toxpayavle
(ot fTor [ ]

[Pate of payment

7400 750000 |- [ 680000 ] * 23]





Task 2.10

[image: image21.png]Tick the appropriate box for each of the following statements.

True False

(a) An individual must retain their tax records for 2009/10 unil 5 April 2015.

(b) Ifan individual is eight months late in returming their tax return for 2009110, they.
il receive a penalty of £200.

(¢) Penalties for errors made by indviduals in their tax return vary from 20% to 100%.

() Ifa company fails to keep records for the appropriate period of ime, they can be.
fined up to £2,000.

QS|

() A company with a period of account ending on 30 Aprl 2009, must keep their
records until 30 April 2015

0 Suehnges s nomatimposes nsancngpamens





Task 2.11

[image: image22.png]16
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Total expenses
If your annual turnover was below £30,000 you may
just put your total expenses in box 30

Cost of goods bought for re-sale or goods used

 [pos.as0

Construction industry - payments to subcontractors

Wages, salaries and other staff costs

125778

Car,van and travel expenses

i [aore

Rent, rates, power and insurance costs

r [rozzr

Repa

s and renewals of property and equipment

[pars

Phone, fax, stationery and other office costs

¢ [reorr

2

3

3

36

37

Disallowable expenses
Use this column if the figures in boxes 16 to 29
include disallowable amounts

¢ |[o.000

¢[00





Task 2.11, continued
[image: image23.png]23| Advertising and business entertainment costs.

A

19,077

"2a] Interest on bank and other loans

25| Bank, credit card and other financial charges.

r

26| Irrecoverable debts written off

£

27| Accountancy. legal and other professional fees

£

5,710

28| Depreciation and loss/profit on sale of assets

=

28,019

23] Other business expenses

£

" 30] Tot:
o

92,460

al expenses in boxes 16 to 29

1,213,995

38

P

39

q

[ %
(=
£
®
s

A

2250

28019

| 45 Total disallowable expenses in boxes 31 to 44

i

65,069
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